SIX CORNERS
IRRIGATION PIPING IMPROVEMENT
DESCHUTES COUNTY, OREGON
DROJECT # WEGOZEA

PROJECT #	* W66078A								
BID RESULTS			ENGINEER'S	ESTIMATE	K&E EXCAVATING, INC. 3871 LANGLEY ST. SE SALEM, OR 97317		BAR SEVEN A COMPANIES P.O. BOX 890 REDMOND, OR 97756		
BID OPENIN	G2:00 PM 12/14/2018		0.127					LINIT PRIOR TOTAL	
	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$16,400.00	\$16,400.00	\$16,000.00	\$16,000.00	\$14,800.00	\$14,800.00
2	Temporary Work Zone Traffic Control, Complete	LS	1	\$14,400.00	\$14,400.00	\$11,000.00	\$11,000.00	\$18,965.00	\$18,965.00
3	Construction Survey Work	LS	1	\$5,800.00	\$5,800.00	\$2,000.00	\$2,000.00	\$2,350.00	\$2,350.00
4	Removal of Pipes	Foot	355	\$15.00	\$5,325.00	\$29.00	\$10,295.00	\$22.60	\$8,023.00
5	Removal of Structures and Obstructions	LS	1	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$470.00	\$470.00
6	Asphalt Pavement Saw Cutting	Foot	215	\$3.00	\$645.00	\$3.00	\$645.00	\$2.35	\$505.25
7	Removal of Surfacings	SY	225	\$15.00	\$3,375.00	\$10.00	\$2,250.00	\$4.60	\$1,035.00
8	Clearing and Grubbing	LS	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$1,505.00	\$1,505.00
9	Embankment In Place	CY	300	\$20.00	\$6,000.00	\$18.00	\$5,400.00	\$28.80	\$8,640.00
10	Loose Riprap, Class 50	CY	8	\$100.00	\$800.00	\$110.00	\$880.00	\$75.00	\$600.00
11	18 Inch PVC Pipe, 5 Foot Depth	Foot	10	\$80.00	\$800.00	\$195.00	\$1,950.00	\$251.50	\$2,515.00
12	12 Inch PVC Pipe, 5 Foot Depth	Foot	1,369	\$60.00	\$82,140.00	\$40.00	\$54,760.00	\$28.95	\$39,632.55
13	Irrigation Inlet Structure 1, Complete	Each	1	\$8,000.00	\$8,000.00	\$6,700.00	\$6,700.00	\$6,610.00	\$6,610.00
14	Irrigation Inlet Structure 2, Complete	Each	1	\$7,000.00	\$7,000.00	\$6,700.00	\$6,700.00	\$7,915.00	\$7,915.00
15	Irrigation Outlet Structure, Complete	Each	2	\$5,000.00	\$10,000.00	\$5,200.00	\$10,400.00	\$9,715.00	\$19,430.00
16	3/4 Inch - 0 Aggregate Base	Ton	115	\$25.00	\$2,875.00	\$36.00	\$4,140.00	\$44.50	\$5,117.50
17	Level 3, 1/2 Inch Dense ACP Mixture	Ton	55	\$120.00	\$6,600.00	\$145.00	\$7,975.00	\$185.00	\$10,175.00
18	Removing and Rebuilding Fence	Foot	25	\$25.00	\$625.00	\$30.00	\$750.00	\$65.00	\$1,625.00
19	Ductile Iron Pipe Bend, 12 Inch	Each	4	\$1,000.00	\$4,000.00	\$850.00	\$3,400.00	\$788.00	\$3,152.00
20	12 Inch Pipe Cleanouts with Class B Backfill	Each	7	\$2,000.00	\$14,000.00	\$1,700.00	\$11,900.00	\$1,465.00	\$10,255.00
				TOTAL =	\$198,785.00	TOTAL =	\$162,145.00	TOTAL =	\$163,320.30

SIX CORNERS
IRRIGATION PIPING IMPROVEMENT
DESCHUTES COUNTY, OREGON
PROJECT # W66078A

BID RESULTS

VIC RUSSELL CONSTRUCTION, INC.

P.O. BOX 2520 / 17900 FINLEY BUTTE RI

LA PINE, OR 97739

ROBIN:

CO

ROBINSON AND OWEN HEAVY CONSTRUCTION, INC. P.O. BOX 267 SISTERS, OR 97759

TAYLOR NORTHWEST LLC 18500 BULL SPRINGS RD BEND, OR 97703

BID OPENING 2:00 PM 12/14/2018

	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00	\$18,420.00	\$18,420.00
2	Temporary Work Zone Traffic Control, Complete	LS	1	\$6,500.00	\$6,500.00	\$16,559.20	\$16,559.20	\$9,538.00	\$9,538.00
3	Construction Survey Work	LS	1	\$3,000.00	\$3,000.00	\$2,140.00	\$2,140.00	\$3,680.00	\$3,680.00
4	Removal of Pipes	Foot	355	\$10.00	\$3,550.00	\$7.57	\$2,687.35	\$17.70	\$6,283.50
5	Removal of Structures and Obstructions	LS	1	\$3,000.00	\$3,000.00	\$4,950.00	\$4,950.00	\$1,960.00	\$1,960.00
6	Asphalt Pavement Saw Cutting	Foot	215	\$2.00	\$430.00	\$3.50	\$752.50	\$1.75	\$376.25
7	Removal of Surfacings	SY	225	\$11.00	\$2,475.00	\$28.36	\$6,381.00	\$7.00	\$1,575.00
8	Clearing and Grubbing	LS	1	\$2,500.00	\$2,500.00	\$2,640.00	\$2,640.00	\$4,538.00	\$4,538.00
9	Embankment In Place	CY	300	\$25.00	\$7,500.00	\$20.50	\$6,150.00	\$49.30	\$14,790.00
10	Loose Riprap, Class 50	CY	8	\$100.00	\$800.00	\$61.88	\$495.04	\$106.00	\$848.00
11	18 Inch PVC Pipe, 5 Foot Depth	Foot	10	\$25.00	\$250.00	\$237.67	\$2,376.70	\$229.00	\$2,290.00
12	12 Inch PVC Pipe, 5 Foot Depth	Foot	1,369	\$50.00	\$68,450.00	\$48.80	\$66,807.20	\$38.50	\$52,706.50
13	Irrigation Inlet Structure 1, Complete	Each	1	\$7,000.00	\$7,000.00	\$9,176.99	\$9,176.99	\$14,905.00	\$14,905.00
14	Irrigation Inlet Structure 2, Complete	Each	1	\$7,000.00	\$7,000.00	\$9,176.99	\$9,176.99	\$14,905.00	\$14,905.00
15	Irrigation Outlet Structure, Complete	Each	2	\$8,500.00	\$17,000.00	\$6,469.89	\$12,939.78	\$13,750.00	\$27,500.00
16	3/4 Inch - 0 Aggregate Base	Ton	115	\$40.00	\$4,600.00	\$50.92	\$5,855.80	\$35.00	\$4,025.00
17	Level 3, 1/2 Inch Dense ACP Mixture	Ton	55	\$90.00	\$4,950.00	\$203.68	\$11,202.40	\$201.00	\$11,055.00
18	Removing and Rebuilding Fence	Foot	25	\$15.00	\$375.00	\$42.00	\$1,050.00	\$105.00	\$2,625.00
19	Ductile Iron Pipe Bend, 12 Inch	Each	4	\$700.00	\$2,800.00	\$655.54	\$2,622.16	\$790.00	\$3,160.00
20	12 Inch Pipe Cleanouts with Class B Backfill	Each	7	\$2,500.00	\$17,500.00	\$1,438.00	\$10,066.00	\$1,325.00	\$9,275.00
				TOTAL =	\$169,680.00	TOTAL =	\$182,529.11	TOTAL =	\$204,455.25

SIX CORNERS
IRRIGATION PIPING IMPROVEMENT
DESCHUTES COUNTY, OREGON
PROJECT # W66078A

חום	DEC	,,,,	TC
טום	RES	IJL	13

ALEX HODGE CONSTRUCTION INC. 63004 LAYTON AVE BEND, OR 97701

MARK LATHAM EXCAVATION INC DBA LATHAM EXCAVATION 84 SE 5TH ST #100 BEND, OR 97702 HIGH DESERT AGGREGATE AND PAVING INC. P.O. BOX 1929 REDMOND, OR 97756

BID OPENING 2:00 PM 12/14/2018

DID OF ENING 2:00 F NF 12/14/2010									
	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$15,000.00	\$15,000.00	\$8,200.00	\$8,200.00	\$22,500.00	\$22,500.00
2	Temporary Work Zone Traffic Control, Complete	LS	1	\$17,500.00	\$17,500.00	\$28,400.00	\$28,400.00	\$20,000.00	\$20,000.00
3	Construction Survey Work	LS	1	\$1,700.00	\$1,700.00	\$1,950.00	\$1,950.00	\$3,500.00	\$3,500.00
4	Removal of Pipes	Foot	355	\$20.00	\$7,100.00	\$23.00	\$8,165.00	\$7.00	\$2,485.00
5	Removal of Structures and Obstructions	LS	1	\$3,500.00	\$3,500.00	\$1,100.00	\$1,100.00	\$3,500.00	\$3,500.00
6	Asphalt Pavement Saw Cutting	Foot	215	\$3.00	\$645.00	\$2.75	\$591.25	\$2.00	\$430.00
7	Removal of Surfacings	SY	225	\$18.00	\$4,050.00	\$6.93	\$1,559.25	\$3.00	\$675.00
8	Clearing and Grubbing	LS	1	\$2,500.00	\$2,500.00	\$3,860.00	\$3,860.00	\$5,000.00	\$5,000.00
9	Embankment In Place	CY	300	\$22.00	\$6,600.00	\$22.50	\$6,750.00	\$40.00	\$12,000.00
10	Loose Riprap, Class 50	CY	8	\$60.00	\$480.00	\$60.00	\$480.00	\$75.00	\$600.00
11	18 Inch PVC Pipe, 5 Foot Depth	Foot	10	\$88.00	\$880.00	\$281.00	\$2,810.00	\$130.00	\$1,300.00
12	12 Inch PVC Pipe, 5 Foot Depth	Foot	1,369	\$74.00	\$101,306.00	\$55.05	\$75,363.45	\$40.00	\$54,760.00
13	Irrigation Inlet Structure 1, Complete	Each	1	\$8,150.00	\$8,150.00	\$12,972.00	\$12,972.00	\$9,500.00	\$9,500.00
14	Irrigation Inlet Structure 2, Complete	Each	1	\$8,150.00	\$8,150.00	\$13,342.00	\$13,342.00	\$9,500.00	\$9,500.00
15	Irrigation Outlet Structure, Complete	Each	2	\$5,500.00	\$11,000.00	\$9,623.00	\$19,246.00	\$6,000.00	\$12,000.00
16	3/4 Inch - 0 Aggregate Base	Ton	115	\$32.00	\$3,680.00	\$30.00	\$3,450.00	\$45.00	\$5,175.00
17	Level 3, 1/2 Inch Dense ACP Mixture	Ton	55	\$140.00	\$7,700.00	\$185.00	\$10,175.00	\$165.00	\$9,075.00
18	Removing and Rebuilding Fence	Foot	25	\$50.00	\$1,250.00	\$71.40	\$1,785.00	\$25.00	\$625.00
19	Ductile Iron Pipe Bend, 12 Inch	Each	4	\$750.00	\$3,000.00	\$834.00	\$3,336.00	\$4,000.00	\$16,000.00
20	12 Inch Pipe Cleanouts with Class B Backfill	Each	7	\$1,350.00	\$9,450.00	\$1,617.00	\$11,319.00	\$4,000.00	\$28,000.00
				TOTAL =	\$213,641.00	TOTAL =	\$214,853.95	TOTAL =	\$216,625.00

SIX CORNERS IRRIGATION PIPING IMPROVEMENT DESCHUTES COUNTY, OREGON PROJECT # W66078A

BID RESULTS

NORTHWEST METAL FAB AND PIPE | EMERY AND SONS CONSTRUCTION INC.

4500 SW ADVANCE RD WILSONVILLE, OR 97070

GROUP LLC P.O. BOX 13069

SALEM, OR 97309

BID OPENING 2:00 PM 12/14/2018

	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$8,000.00	\$8,000.00	\$30,880.00	\$30,880.00
2	Temporary Work Zone Traffic Control, Complete	LS	1	\$18,000.00	\$18,000.00	\$25,000.00	\$25,000.00
3	Construction Survey Work	LS	1	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
4	Removal of Pipes	Foot	355	\$24.00	\$8,520.00	\$23.00	\$8,165.00
5	Removal of Structures and Obstructions	LS	1	\$8,000.00	\$8,000.00	\$4,000.00	\$4,000.00
6	Asphalt Pavement Saw Cutting	Foot	215	\$2.55	\$548.25	\$4.00	\$860.00
7	Removal of Surfacings	SY	225	\$36.00	\$8,100.00	\$12.00	\$2,700.00
8	Clearing and Grubbing	LS	1	\$16,500.00	\$16,500.00	\$3,800.00	\$3,800.00
9	Embankment In Place	CY	300	\$64.40	\$19,320.00	\$36.50	\$10,950.00
10	Loose Riprap, Class 50	CY	8	\$33.00	\$264.00	\$168.00	\$1,344.00
11	18 Inch PVC Pipe, 5 Foot Depth	Foot	10	\$1,603.69	\$16,036.90	\$270.00	\$2,700.00
12	12 Inch PVC Pipe, 5 Foot Depth	Foot	1,369	\$11.71	\$16,030.99	\$38.00	\$52,022.00
13	Irrigation Inlet Structure 1, Complete	Each	1	\$8,500.00	\$8,500.00	\$12,570.00	\$12,570.00
14	Irrigation Inlet Structure 2, Complete	Each	1	\$9,000.00	\$9,000.00	\$12,570.00	\$12,570.00
15	Irrigation Outlet Structure, Complete	Each	2	\$10,000.00	\$20,000.00	\$12,570.00	\$25,140.00
16	3/4 Inch - 0 Aggregate Base	Ton	115	\$20.00	\$2,300.00	\$40.00	\$4,600.00
17	Level 3, 1/2 Inch Dense ACP Mixture	Ton	55	\$400.00	\$22,000.00	\$308.00	\$16,940.00
18	Removing and Rebuilding Fence	Foot	25	\$72.00	\$1,800.00	\$38.00	\$950.00
19	Ductile Iron Pipe Bend, 12 Inch	Each	4	\$4,009.23	\$16,036.92	\$300.00	\$1,200.00
20	12 Inch Pipe Cleanouts with Class B Backfill	Each	7	\$2,290.99	\$16,036.93	\$2,350.00	\$16,450.00
		TOTAL =	\$224,993.99	TOTAL =	\$236,841.00		